
Name: ___________________________

   Multiplication & Division of Money
                   Word Problems

1. Mr. Magenta put three new windows on his house.
Each window cost $87.55.  What was the total cost
for the windows?      
Show your work.

answer:  _______________

2. Mrs. Cyan paid $105 for flower boxes.  Each
flower box cost $7.   How many flower boxes
did she buy?
Show your work.

answer:  _______________

3. Dr. Burgundy purchased new ceiling lights for
each of the nine rooms in his house.  He paid a
total of $135 for the lights.  How much did each
light cost?
Show your work.

answer:  _______________

4. Miss Amber purchased new carpeting for her
living room.  The carpet she chose cost $4
per square foot.  Her living room measured
84 square feet.  What was the total cost of the
carpeting?
Show your work.

answer:  _______________

 Mr.  Indigo purchased some trees to plant
in his backyard.  He bought three oak trees
for $23 each and an elm tree for $42.  What
was the total cost of the trees?
Show your work.

answer:  _______________
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ANSWER KEY
   Multiplication & Division of Money
                    Word Problems

1. Mr. Magenta put three new windows on his house.
Each window cost $87.55.  What was the total cost
for the windows?      
Show your work.

answer:  $262.65

2. Mrs. Cyan paid $105 for flower boxes.  Each
flower box cost $7.   How many flower boxes
did she buy?
Show your work.

answer:  15 flower boxes

3. Dr. Burgundy purchased new ceiling lights for
each of the nine rooms in his house.  He paid a
total of $135 for the lights.  How much did each
light cost?
Show your work.

answer:  $15

4. Miss Amber purchased new carpeting for her
living room.  The carpet she chose cost $4
per square foot.  Her living room measured
84 square feet.  What was the total cost of the
carpeting?
Show your work.

answer:  $336

 Mr.  Indigo purchased some trees to plant
in his backyard.  He bought three oak trees
for $23 each and an elm tree for $42.  What
was the total cost of the trees?
Show your work.

answer:  $111
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